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1. 
Which one of the following words can be substituted for ‘one who loves books’? 

(a) Misanthrope  
(b) Bookie  
(c) Bibliophile  
(d) Librarian 

 
2. 
Which one of the following words can be substituted for ‘words written on the tomb of a person’? 

(a) Epicure 
(b) Pen name 
(c) Epitaph  
(d) Pseudonym 

 
3. 
Which one of the following is the synonym of the word written in capital letters in the sentence   ‘For a 
while she listens to the PATHETIC voice’? 

(a) Bad 
(b) Causing sorrow 
(c) Arousing anger 
(d) Causing worry 

 
4. 
Which one of the following is the synonym of the word written in capital letters in the sentence   
‘Libraries continued to develop after the REVOLUTIONARY war’? 

(a) Reformatory 
(b) Rotatory 
(c) Extraordinary 
(d) Involving sudden drastic change 

 
5. 
Which one of the following is the synonym of the word written in capital letters in the sentence   
‘PROXIMITY is now no longer a condition for access to information’? 

(a) Guess 
(b) Nearness 
(c) Immediate 
(d) Approximate 

 
6.  
Which one of the following words can be substituted for ‘a study of birds’? 

(a) Aviary 
(b) Ornithology 
(c) Apiary  
(d) Zoology 
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7. 
Which one of the following is the appropriate question tag in the sentence ‘The problem is easy to 
tackle, __________________’? 

(a) isn’t it? 
(b) is it? 
(c) won’t it? 
(d) will it? 

 
8. 
Which one of the following is the antonym of the word written in capital letters in the sentence ‘The 
cleaner of the truck REPAIRED the wheels’? 

(a) Overhauled 
(b) Defaulted 
(c) Damaged 
(d) Injured 

 
9. 
Which one of the following is the antonym of the word written in capital letters in the sentence ‘He 
told very FANTASTIC stories about the life in Nigeria’? 

(a) Romantic 
(b) Factual 
(c) Reliable 
(d) Realistic 

 
10. 
Which one of the following is the appropriate question tag in the sentence ‘I could understand 
everything, __________________’? 

(a) could I? 
(b) Isn’t it? 
(c) didn’t I? 
(d) couldn’t I? 

 
11. 
Which one of the following phrasal verbs may be used in the blank spaces in the sentence ‘Burglars 
_____ ______ my house yesterday while we were away’? 

(a) Break into 
(b) Broke out 
(c) Broken out 
(d) Broke into 

 
12. 
Which one of the following phrasal verbs may be used in the blank spaces in the sentence ‘Domestic 
prices have been ____ _____ those in world markets’? 

(a) Aligned to 
(b) Aligned in 
(c) Aligned with 
(d) Aligned for 
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13. 
Which one of the following phrasal verbs may be used in the blank spaces in the sentence ‘At first, the 
child could not ____ ____ the danger’? 

(a) Awaken for  
(b) Awaken upon 
(c) Awaken in 
(d) Awaken to 

 
14. 
Which one of the following words can be substituted for ‘a man who is greedy for money’? 

(a) Rational 
(b) Avaricious  
(c) Reticent 
(d) Gullible 

 
15. 
Which one of the following phrasal verbs may be used in the blank spaces in the sentence ‘Scientists 
think they are beginning to ____ ____ in the fight against Cancer’? 

(a) Break out 
(b) Break up 
(c) Break into 
(d) Break through 

 
16. 
Which one of the following parts of the sentence ‘When I reached the college, I found there was no 
less than fifty boys present in the class’, has an error? 

(a) When I reached the college 
(b) I found 
(c) there was no less than fifty boys present in the class 
(d) No error 

 
17. 
Which one of the following parts of the sentence ‘When utterances conflict with actions and actions 
with beliefs, the individual is splitted and sick’ has an error? 

(a) When utterances conflict with actions 
(b) and actions with beliefs 
(c) the individual is splitted and sick 
(d) No error 

 
18. 
Which one of the following parts of the sentence ‘Rachna once met me in Mumbai; I have not seen her 
from then’ has an error? 

(a) Rachna once met me 
(b) in Mumbai 
(c) I have not seen her from then 
(d) No error 
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19. 
 Which one of the following is the appropriate question tag in the sentence ‘The teacher wants to see 
the homework now, __________________’? 

(a) isn’t it? 
(b) is it? 
(c) doesn’t he? 
(d) does he? 

 
20. 
Which one of the following parts of the sentence ‘He informed her that he will be late for dinner’ has 
an error? 

(a) He informed her 
(b) that he will be 
(c) late for dinner 
(d) No error 

 
21. 
CE-20, the first successfully tested India made cryogenic engine is capable of carrying satellites upto 
the weight of: 

(a)  5 tonnes.  
(b) 10 tonnes. 
(c) 12 tonnes. 
(d) 15 tonnes. 

 
भारत म� बना प्र सफलतापूवर्  पर���त �नम्नताप इंजन CE-20, �कतने भार तक के उपग् वहन करने क� 
�मता रखता है ?  

(a) 5 टन  

(b) 10 टन 

(c) 12 टन 

(d) 15 टन 
 
22. 
For reconstruction in which of the following sectors in post-earthquake Nepal, India has committed 
250 million dollars grant in February 2016?  
 

1. Housing 
2. Highways 
3. Cultural heritage 
4. Education 

 
Select the correct answer using the code given below: 
 

(a) 1, 2 and 3 only 
(b) 1, 3 and 4 only 
(c) 2 and 4 only 
(d) 1, 2, 3 and 4  
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भूकंप के उपरांत के नेपाल म� �नम्न�ल�ख म� से �कस एक �ेत् म� पुन�नर्मार के �लए, भारत ने फरवर� 2016 

म� 250 �म�लयन डॉलर के अनुदान का वचन �दया है ?  

1. आवासन  

2. राजमागर  
3. सांस क् ृ�त �वरासत  

4. �श�ा  
 

नीच े�दए कूट का प्रय कर सह� उत्त च�ुनए : 
 

(a) केवल 1, 2 और 3  

(b) केवल 1, 3 और 4  

(c) केवल 2 और 4  

(d) 1, 2, 3 और 4  
 
23. 
The United Nations announced the year 2016 as the International Year of: 
(a) soils.  
(b) pulses.  
(c) sustainable tourism for development. 
(d) light and light-based technologies. 
 
संयुक् राष् ने वषर 2016 को �कसके अतंरराष्ट् वषर के रू म� घो�षत �कया है ?  

(a) मदृाएँ  
(b) दलहन  

(c) �वकास हेतु धारणीय पयर्ट  

(d) प्रक और प्रक-आधा�रत प्रौद्यो�ग�क  
 
24. 
The Paris Agreement under the UNFCCC (United Nations Framework Convention on Climate 
Change) held in December 2015 resolved that the implementation of the agreement by all member 
countries together will be evaluated after:   

(a) every two years.  
(b) every three years. 
(c) every five years. 
(d) such number of years as decided by IPCC. 
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UNFCCC (जलवायु प�रवतर्  पर संयुक् राष् ढाँचा अ�भसमय) के अधीन �दसंबर 2015 म� हुए पे�रस समझौत े

म� यह संकल् �लया गया �क इस समझौते के एकसाथ सभी सदस् देश� द्वार कायार्न्व का मूल्यांक प्र 

�कतने वषर बाद �कया जाएगा ?   

(a) दो वषर    
(b) तीन वषर   
(c) पाँच वषर  
(d) IPCC द्वार �निश्च क� गई वष� क� संख्य   

 
25. 
Which one of the following is the correct order of per capita emission of carbon dioxide? 

(a) USA > Russian Federation > China > India 
(b) China > USA > Russian Federation > India 
(c) USA > China > Russian Federation > India 
(d) USA > China > India > Russian Federation 

 
�नम्न�ल�ख म� से कौन सा एक, प्र व्यिक काबर्  डाईऑक्साइ उत्सजर का सह� अनुक् है ? 

(a) USA > रूस महासंघ > चीन > भारत  

(b) चीन > USA > रूस महासंघ> भारत  

(c) USA > चीन > रूस महासंघ > भारत 

(d) USA > चीन > भारत  > रूस महासंघ  
 
26.  
Which one of the following is NOT a feature of the Railway Budget 2016? 

(a) All unmanned level crossings will be eliminated by 2020 
(b) More number of lower berths will be  reserved for women and senior citizens  
(c) Baby foods will be available in long distance trains 
(d) Day-time double-decker trains will be introduced on business travel routes 

 
�नम्न�ल�ख म� से कौन सा एक, रेल बजट 2016 का एक अ�भल�ण नह�ं है ? 

(a) सभी मानव-र�हत संपार� (लेवेल क्रॉ�सं) को वषर 2020 तक समाप् कर �दया जाएगा  
(b) म�हलाओं और व�रष् नाग�रक� के �लए और अ�धक संख्य म� �नचल� शा�यकाएँ आर��त क� जाएँगी  
(c) लंबी दरू� क� रेलगा�ड़य� म� �शशु आहार उपलब् रहेगा  
(d) व्यवसा-यात् माग� पर �दन के समय क� दतुल्ल रेलगा�ड़याँ आरंभ क� जाएँगी  

 
27. 
The first Sahitya Academi Fellowship was awarded to: 

(a) Gopinath Kaviraj. 
(b) Vaikom Muhammad Basheer. 
(c) S. Radhakrishnan. 
(d) C. Rajagopalachari. 

 
 

Downloaded from http://iasexamportal.com



प्र सा�हत् अकादमी अध्येतावृित (फेलो�शप) �कसे प्रद क� गई थी ?  

(a) गोपीनाथ क�वराज  

(b) वाइकोम मुहम्म बशीर  

(c) एस. राधाकृ ष्ण  

(d) सी. राजगोपालाचार�  
 
28.  
Which one of the following was the theme for the World Environment Day of the year 2016? 

(a) Many Species. One Planet.  One Future 
(b) Green Economy: Does it include you? 
(c) Join the race to make the world a better place 
(d) Melting Ice – a Hot Topic? 

 
�नम्न�ल�ख म� से कौन सा एक, वषर 2016 के �वश् पयार्वर �दवस का प्र�तपा (थीम) था ? 

(a) बहुत सार� प्रजा I  एक ग् I  एक भ�वष् I 

(b) ह�रत अथर्व्यवस : क्य इसन ेआपको शा�मल �कया है ? 

(c) द�ुनया को एक बेहतर जगह बनान ेके �लए दौड़ म� शा�मल ह�  
(d) बफर  का �पघलना – एक गंभीर �वषय है ? 

 
29. 
 Which of the following statements is / are correct? 

1. A giant slab of ice has been discovered beneath the surface of Mars between its Equator and 
North Pole 

2. This slab may have generated due to snowfall  tens of millions of years ago 
3. The planet is now found to be wet 

 
Select the correct answer using the code given below: 

(a) 1 only  
(b) 2 only 
(c) 1 and 2 only 
(d) 1, 2 and 3 

 
�नम्न�ल�ख म� से कौन सा/से कथन सह� है/ह� ? 

1.  मंगल क� सतह के नीच ेइसक� मध्-रेखा और उत्तर ध्र के बीच बफर  क� एक �वशाल पट् खोजी गई है  

2. यह पट् करोड़� वषर पूवर �हमपात के फलस्वर ज�नत हुई होगी  
3. यह ग् अब आद् पाया जाता है  
 
नीच े�दए कूट का प्रय कर सह� उत्त च�ुनए : 

(a) केवल 1  

(b) केवल 2  

(c) केवल 1 और 2  

(d) 1, 2 और 3 
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30. 
Which one of the following statements with regard to LIGO (Laser Interferometer Gravitational-Wave 
Observatory) project is NOT correct? 

(a) It is a joint project between scientists at MIT, Caltech and many other Universities throughout 
the World 

(b) The LIGO project team first detected the gravitational waves in September 2015 
(c) The LIGO project was funded by UNESCO 
(d) A number of Indian scientists are also associated with the LIGO project 

 
LIGO (लेसर व्य�तकरणमाप गुरुत्व तरंग वेधशाला) प�रयोजना के बारे म� �नम्न�ल�ख कथन� म� से कौन 

सा एक सह� नह�ं है ? 

(a) यह MIT, कैल्टे ( Caltech) और पूरे �वश् के कई अन् �वश्व�वद्याल के वै�ा�नक� के बीच एक 

संयुक् प�रयोजना है  

(b) LIGO प�रयोजना दल ने �सतंबर 2015 म� गुरुत्व तरंग� का सवर्प् पता लगाया  
(c) LIGO प�रयोजना का �नधीयन UNESCO द्वार �कया गया था  
(d) LIGO प�रयोजना के साथ कई भारतीय वै�ा�नक भी जुड़ ेहुए ह�  

 
31.  
Who among the following leaders was NOT associated with the founding of the Non-Aligned 
Movement? 

(a) Josip Broz Tito 
(b) Gamal Abdel Nasser 
(c) Kwame Nkrumah 
(d) Mahatma Gandhi 

 

�नम्न�ल�ख नेताओं म� से कौन, गुट-�नरपे� आंदोलन क� स्थापन से नह�ं जुड़ा था ? 

(a) जो�सप ब्र ट�टो  
(b) गमाल अब्दे नासर   

(c) क्वाम नक्रू   
(d) महात्म गाँधी  

 
32. 
Article 17 of the Constitution of India provides for: 

(a) equality before law. 
(b) abolition of untouchability. 
(c) right to freedom of religion. 
(d) right to freedom of expression. 

 
भारत के सं�वधान का अनुच छ्े 17 �कसका उपबंध करता है ?  

(a) �व�ध के सम� समता  
(b) अस्पृश्य का अतं  

(c) धमर क� स्वतंत् का अ�धकार  

(d) अ�भव्यिक-स्वातं� का अ�धकार  
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33.  
Which one of the following statements about the Preamble to the Constitution of India is NOT correct? 

(a) The Preamble is an operative part of the Constitution of India 
(b) The Preamble lays down the goals and objectives of the nation and its citizens 
(c) The words ‘Socialist’ and ‘Secular’ were inserted by the 42nd Amendment Act, 1976 
(d) The Preamble indicates the source of the Constitution of India 

 
भारत के सं�वधान क� उद्दे�श के बारे म� �नम्न�ल�ख कथन� म� से कौन सा एक सह� नह�ं है ?  

(a) उद्दे�श, भारत के सं�वधान का प्रवतर्न भाग है  

(b) उद्दे�श, इस राष् और इसके नाग�रक� के ल�य� और उद्देश को अ�धक�थत करती है  

(c) शब् ‘समाजवाद�’ और ‘पंथ�नरपे�’ 42व� संशोधन अ�ध�नयम, 1976 द्वार अतं:स्था�प �कए गए 

(d) उद्दे�श भारत के सं�वधान के उद्ग को उपद�शर्  करती है  
 
34. 
Who among the following was the Chairman of the Union Constitution Committee of the Constituent 
Assembly? 

(a) B R Ambedkar 
(b) J B Kripalani 
(c) Jawaharlal Nehru 
(d) A K Ayyar 

 
�नम्न�ल�ख म� से कौन, सं�वधान सभा क� संघ सं�वधान स�म�त का अध्य था ? 

(a) बी आर अम्बेडक  

(b) जे बी कृ पलानी  
(c) जवाहरलाल नेहर  

(d) ए के अय्य  
 
35. 
Arrange the following events in chronological order: 

1. Morley – Minto Reforms 
2. Cripps Mission 
3. Motilal Nehru Report 
4. Montford Report 

 
Select the correct answer using the code given below: 

(a) 1-3-4-2 
(b) 4-2-3-1 
(c) 4-3-2-1 
(d) 1-4-3-2 
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�नम्न�ल�ख घटनाओ ंको कालानुक् म� व्यविस् क�िजए : 

1. मॉल�–�मटंो सुधार 

2. �क्र �मशन  

3. मोतीलाल नेहर �रपोटर  
4. मॉन्टफोड �रपोटर  

 
नीच े�दए कूट का प्रय कर सह� उत्त च�ुनए : 

(a) 1-3-4-2 
(b) 4-2-3-1 
(c) 4-3-2-1 
(d) 1-4-3-2 

 
36. 
The first Prime Minister of India in 1947 was appointed by: 

(a) the Governor General. 
(b) the President of India. 
(c) Mahatma Gandhi. 
(d) a Committee headed by Dr Rajendra Prasad. 

 
1947 म� भारत का प्र प्रधानमं �कसके द्वार �नयुक् �कया गया था ? 

(a) गवनर्  जनरल 

(b) भारत का राष्ट्र  

(c) महात्म गाँधी  
(d) डॉ0 राज�द प्रस क� अध्य�त म� एक स�म�त  

 
37. 
Which one of the following is the subject of the 8th Schedule to the Constitution of India? 

(a) The Union, the State and the Concurrent Lists 
(b) Recognized languages 
(c) Provisions relating to the administration of tribal areas 
(d) Provisions as to disqualification on grounds of defection 

 
�नम्न�ल�ख म� से कौन सा एक, भारत के सं�वधान क� 8वीं अनुसूची का �वषय है ? 

(a) संघ, राज् और समवत� सू�चयाँ  
(b) मान् भाषाएँ  
(c) जनजातीय �ेत् के प्रशा से संबं�धत उपबंध  

(d) दल-बदल के आधार पर �नरहर्त के बारे म� उपबंध  
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38. 
Consider the following statements with regard to the Mahatma Gandhi National Rural Employment 
Guarantee Act (2005): 

1. The scheme is implemented only in 53 districts across India 
2. It guarantees the right of 100 days of wage employment in public works 
3. There is a fixed wage across all States 
4. An unemployment wage must be provided if no job is provided to a claimant within fifteen 

days 
 

Which of the statements given above is / are NOT correct? 
(a) 1 only 
(b) 2 and 4 
(c) 1 and 3 
(d) 2 and 3 

 
 
 
महात्म गाँधी राष्ट् ग्राम रोजगार गारंट� अ�ध�नयम (2005) के बारे म� �नम्न�ल�ख कथन� पर �वचार 

क�िजए :  

1. यह योजना पूरे भारत म� केवल 53 िजल� म� कायार्िन् क� गई है  

2. यह सावर्ज�न काय� म� 100 �दन� के मजदरू� �नयोजन के अ�धकार क� गारंट� देती है  

3. सभी राज्य म� एक �नयत मजदरू� है  

4. य�द �कसी दावेदार को पंद् �दन� के भीतर कोई कायर उपलब् नह�ं कराया जाता तो उस े

बेरोजगार मजदरू� अवश् उपलब् कराई जानी चा�हए 

उपयुर्क कथन� म� से कौन सा/से सह� नह�ं है/ह� ? 

(a) केवल 1  

(b) 2 और 4 

(c) 1 और 3 

(d) 2 और 3 
 
39. 
Which of the following Articles of the Constitution of India deals with the power of Judicial Review? 

(a) 32 and 226 
(b) 21 and 371 
(c) 338 and 360 
(d) 217 and 283 

 

भारत के सं�वधान के �नम्न�ल�ख अनुच छ्ेद म� से कौन से, न्या�य पुन�वर्लोक क� शिक् से संबंध रखते ह� 
? 

(a) 32 और 226 

(b) 21 और 371 

(c) 338 और 360 

(d) 217 और 283 
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40. 
Which one of the following pairs is NOT correctly matched? 

(a) State Governments : State List 
(b) Union Government : Union List 
(c) State Governments and Union Government :   Concurrent List 
(d) Local Governments :   Residuary Powers 

 
�नम्न�ल�ख युग्म म� से कौन सा एक, सह� सुमे�लत नह�ं है ? 

(a) राज् सरकार�  :  राज् सूची  
(b) संघ सरकार  :  संघ सूची  
(c) राज् सरकार� और संघ सरकार : समवत� सूची  
(d) स्थानी शासन :  अव�शष् शिक्तया  

 
41. 
The ‘Basic Structure Doctrine’ of the Constitution of India was enunciated in which one of the 
following Judgments of the Supreme Court of India? 

(a) Golak Nath V State of Punjab 
(b) Sankari Prased V Union of India 
(c) Keshavananda Bharati V State of Kerala 
(d) Minerva Mills V Union of India 

 
भारत के सं�वधान का ‘आधारभूत संरचना �सद्धा’, भारत के उच्चत न्यायाल के �नम्न�ल�ख �नणर्य म� स े

�कस एक म� प्र�त�ा� �कया गया था ? 

(a) गोलक नाथ बनाम पंजाब राज्  

(b) संकर� प्रस बनाम भारत संघ  

(c) केशवानंद भारती बनाम केरल राज्  

(d) �मनवार �मल् बनाम भारत संघ  
 
42. 
In India, seats are reserved for women in: 

(a) Legislative Assemblies. 
(b) Lok Sabha. 
(c) Panchayati Raj Bodies. 
(d) Rajya Sabha. 

 
भारत म� म�हलाओं के �लए स्थान का आर�ण �कसम� �कया गया है ?  

(a) �वधान सभाओं म�   
(b) लोक सभा म�  
(c) पंचायती राज �नकाय� म�   
(d) राज् सभा म�  
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43. 
Through the ‘Look East Policy’, India wants to establish close ties with which one of the following 
regional groups? 

(a) SAARC 
(b) ASEAN 
(c) BRICS 
(d) UNCTAD 

 
भारत ‘पूवार्�भमु नी�त’ के माध्य से, �नम्न�ल�ख �ेत्र समूह� म� से �कस एक के साथ घ�नष् संबंध 

स्था�प करना चाहता है ? 
(a) SAARC 
(b) ASEAN 
(c) BRICS 
(d) UNCTAD 

 
44. 
First Amendment of the Constitution of India relates to: 

(a) Article 19 of the Constitution of India. 
(b) states designated as A, B, C and D categories were recategorised as States and Union 

Territories. 
(c) inclusion of areas of Dadra and Nagar Haveli in the First Schedule. 
(d) inclusion of Sindhi language in the Eighth Schedule. 

भारत के सं�वधान का पहला संशोधन �कससे संबं�धत है ?  

(a) भारत के सं�वधान का अनुच छ्े 19 

(b) A, B, C और D को�टय� (कैटेगर�ज़) म� अ�भ�हत राज्य को राज्य और संघ राज्य�ेत के रू म� 
      पुनक��टकृ त (र�कैटेगराइज़्) �कया गया  
(c) पहल� अनुसूची म� दादरा और नागर हवेल� के �ेत् का समावेश  

(d) आठवीं अनुसूची म� �सधंी भाषा का समावेश  
 
45. 
Who among the following are the Members of the Governing Council of NITI Aayog? 

(a) Governors of States and Lt. Governors of Union Territories 
(b) Chief Ministers of States and Lt. Governors of Union Territories 
(c) Chief Ministers of States and Union Territories with Legislatures and Lt. Governors of all other 

Union Territories 
(d) Chief Ministers of States, Lt. Governors of Union Territories and Governors of Scheduled Area 

States 
�नम्न�ल�ख म� से कौन, NITI आयोग क� शासी प�रषद  के सदस् ह� ? 

(a) राज्य के राज्यपा और संघ राज्य�ेत के उप राज्यपा  

(b) राज्य के मुख्यमंत और संघ राज्य�ेत के उप राज्यपा 

(c) राज्य और �वधानमंडल वाले संघ राज्य�ेत के मुख्यमंत और अन् सभी संघ राज्य�ेत के 

उपराज्यपा  

(d) राज्य के मुख्यमंत, संघ राज्य�ेत के उपराज्यपा और अनुसू�चत �ेत वाले राज्य के राज्यपा  
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46. 
Dearness Allowance of the Government employees is linked with: 

(a) Wholesale Price Index. 
(b) Consumer Price Index. 
(c) Cost of Living Index. 
(d) Retail Price Index. 

सरकार� कमर्चा�रय का मँहगाई भत्त �कससे संबद है ?  

(a) थोक �बक् क�मत सूचकांक 

(b) उपभोक्त क�मत सूचकांक  

(c) �नवार् खचर सूचकांक  

(d) खदुरा क�मत सूचकांक  
 

47. 
The First Schedule to the Constitution of India relates to: 

(a) provisions as to the President and Governors of States. 
(b) allocation of seats in the Council of States. 
(c) States and Union Territories constituting the Union of India. 
(d) forms of oaths or affirmations. 

 
भारत के सं�वधान क� पहल� अनुसूची �कससे संबंध रखती है ?  

(a) राष्ट्र और राज्य के राज्यपाल के बारे म� उपबंध  

(b) राज् सभा म� स्थान का आबंटन  

(c) भारत संघ को �न�मर्  करने वाले राज् और संघ राज्य�े   

(d) शपथ या प्र�त� के प्र  
 
48. 
The Inter-State Council was established in the year 1990 on the recommendations of: 

(a) The National Development Council. 
(b) The Sarkaria Commission. 
(c) The Finance Commission. 
(d) The Parliament. 

 
वषर 1990 म� अतंर-राज् प�रषद क� स्थापन �कसक� �सफा�रश पर क� गई थी ?  

(a) राष्ट् �वकास प�रषद  

(b) सरका�रया आयोग  

(c) �वत् आयोग  

(d) संसद  
 
49. 
Which one of the following countries is NOT a member of BIMSTEC? 

(a) Bangladesh 
(b) Maldives 
(c) Sri Lanka 
(d) Myanmar 
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�नम्न�ल�ख देश� म� से कौन सा एक, BIMSTEC का सदस् नह�ं है ? 

(a) बांग्लादे  

(b) मालद�व  

(c) श्रीलं  
(d) म्याँमा  

50. 
The members of the International Court of Justice (ICJ) are appointed by: 

(a) the General Assembly and the Security Council. 
(b) the Secretary General. 
(c) the Member-States of the United Nations. 
(d) the permanent members of the Security Council. 

 
अतंरराष्ट् न्यायाल के सदस् (ICJ) �कसके द्वार �नयुक् �कए जात ेह� ?  

(a) महासभा और सुर�ा प�रषद  

(b) महास�चव  

(c) संयुक् राष् के सदस् राज्  

(d) सुर�ा प�रषद के स्थाय सदस्  
 
51. 
What are A and B for the series 3, 5, 6, 10, 9, 15, 12, A, B? 

(a) A = 18,  B = 20 
(b) A = 15,  B = 20 
(c) A = 15,  B = 18 
(d) A = 20,  B = 15 

 
श्रे 3, 5, 6, 10, 9, 15, 12, A, B म� A और B क्य ह� ? 

(a) A = 18,  B = 20 
(b) A = 15,  B = 20 
(c) A = 15,  B = 18 
(d) A = 20,  B = 15 

 
52.  
In a certain language, A X B means A is the wife of B, B Y C means B is the son of C and P Z Q 
means P is the sister of Q. Then which one of the following means that M is the father of L? 

(a) M Z N Y T X L 
(b) M X N Y T Z L 
(c) L Y T X N Z M 
(d) L Z T Y N X M 
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�कसी भाषा म�, A X B का यह अथर है �क A, B क� पत्न है, B Y C का यह अथर है �क B, C का पुत है और P Z Q 

का यह अथर है �क P, Q क� बहन है I  तो, �नम्न�ल�ख म� से �कसका यह अथर है �क M, L का �पता है ? 
(a) M Z N Y T X L 
(b) M X N Y T Z L 
(c) L Y T X N Z M 
(d) L Z T Y N X M 

 
53. 
What is the next number in the series 3, 7, 16, 35, ……? 

(a) 44 
(b) 54 
(c) 64 
(d) 74 

 
श्रे 3, 7, 16, 35, …म� अगल� संख्य क्य है ?  

 (a) 44 
(b) 54 
(c) 64 
(d) 74 

 
54. 
Which one among the following does NOT belong to the same group? 

(a) Sadness 
(b) Mourning 
(c) Melancholy 
(d) Sorrow 

 
�नम्न�ल�ख म� से कौन सा एक, उसी समूह का नह�ं है ? 

(a) उदासी  
(b) मातम  

(c) �वषाद  

(d) शोक  
 
55. 
Four girls ( G1, G2, G3, G4) and three boys ( B1, B2, B3) are to sit for a dinner such that no two boys 
should sit together nor two girls. If they are successively sitting, the position of B2 and G3 is: 
 

(a) 2nd and 3rd 
(b) 3rd and 4th 
(c) 4th and 5th 
(d) 5th and 6th 
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चार लड़�कय� ( G1, G2, G3, G4) और तीन लड़क� ( B1, B2, B3) को एक रा�त्रभ म� इस प्रक बैठना है �क न 

तो दो लड़के, न ह� दो लड़�कयाँ एक साथ बैठ�  I य�द वे उत्तरोत् बैठे/बैठ� ह�, तो B2 और G3 क� िस्थ� क्य है ?  

(a) दसूर� और तीसर�  
(b) तीसर� और चौथी  
(c) चौथी और पाँचवीं  
(d) पाँचवीं और छठ�  
 

 
56. 
P, Q, R and S are four consecutive months of which P and S are having only 30 days. Which month is 
S? 

(a) April 
(b) June 
(c) September 
(d) November 

 
P, Q, R और S चार क्रमा मास ह�, िजनम� से P और S म� केवल 30 �दन होते ह� I S कौन सा मास है? 

(a) अप्र  

(b) जून  

(c) �सतंबर  

(d) नवंबर  
 
57. 
Arrange the following in a systematic order: 
 

1. Fruits 
2. Roots 
3. Trunks 
4. Leaves 
5. Flowers 
6. Branches 

 
Select the correct answer using the code given below: 

(a) 2-3-6-4-5-1 
(b) 3-2-5-1-6-4 
(c) 1-3-6-4-2-5 
(d) 2-3-6-1-4-5 
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�नम्न�ल�ख को क्रम रू म� व्यविस् क�िजए : 

1. फल  

2. जड़   

3. तना   
4. पित्तया  
5. फूल  

6. शाखाएँ  
नीच े�दए कूट का प्रय कर सह� उत्त च�ुनए : 

(a) 2-3-6-4-5-1 
(b) 3-2-5-1-6-4 
(c) 1-3-6-4-2-5 
(d) 2-3-6-1-4-5 
 

58. 
From the given alternative words, select the one which CANNOT be formed using the letters of the 
word BEAUTIFUL: 

(a) LIFE 
(b) FULL 
(c) BEAT 
(d) FUTILE 

 
�दए गए वैकिल्प शब्द म� से एक ऐसे शब् को च�ुनए, िजसे BEAUTIFUL शब् के अ�र� का उपयोग कर न 

बनाया जा सके ?  
(a) LIFE 
(b) FULL 
(c) BEAT 
(d) FUTILE 

 
59. 
Consider the following diagram: 
 
 
 
 
 
 
 
 
The diagram represents students who study three subjects. The region marked by 2 represents students 
who study: 

(a) all the three subjects. 
(b) only one subject. 
(c) only two subjects. 
(d) no subject at all. 

 

5 
6 

1 

4 
2 

3 

7 
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नीच े�दए गए आरेख पर �वचार क�िजए : 
 
 
 
 
 
 
 
 
इस आरेख म� उन छात् को �नरू�प �कया गया है, जो तीन �वषय पढ़त ेह� I 2 से अ�ंकत �ेत �कतने �वषय� को 
पढ़ने वाले छात् को �नरू�प करता है ?  

(a) सभी तीन� �वषय  

(b) केवल एक �वषय  

(c) केवल दो �वषय  

(d) कोई भी �वषय नह�ं  
 
60. 
Find the missing item in the sequence of groups of letters and numbers J2Z, K4X, I7V, _____, H16R, 
M22P: 

(a) I11T 
(b) L11S 
(c) L12T 
(d) L11T 

 
अ�र� और संख्याओ के समूह� के अनुक्, J2Z, K4X, I7V, _____, H16R, M22P, म� लुप् मद कौन सी है ?  

(a) I11T 
(b) L11S 
(c) L12T 
(d) L11T 

61. 
Q’s mother Y is the sister of P and daughter of M. S is daughter of P and sister of T. How is M related 
to T? 

(a) Father 
(b) Mother 
(c) Grandfather 
(d) Grandfather or Grandmother 

 
Q क� माता Y, P क� बहन है और M क� पुत् है I S, P क� पुत् और T क� बहन है I M का T के साथ क्य संबंध है 
? 

(a) �पता  
(b) माता  
(c) दादा/नाना   
(d) दादा/नाना या दाद�/नानी  

 

5 
6 

1 

4 
2 

3 
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62. 
Find the odd one out from among Oil, Water, Moisture, and Ice? 

(a) Water  
(b) Oil 
(c) Moisture 
(d) Ice 

 
तेल, जल, नमी और बफर  म� से कौन सा एक, अन् सभी से �भन् है ?  

(a) जल   

(b) तेल 

(c) नमी 
(d) बफर   

 
63. 
There are two cylinders. The height of one of them is 32 times the height of the other. If the volume of 
the shorter cylinder is double the volume of taller cylinder, then what is the ratio of the radii of the 
shorter cylinder and the taller cylinder? 

(a) 6 
(b) 4 
(c) 8 
(d) 16 

 
दो बेलन ह� I उनम� से एक क� ऊँचाई, दसूरे क� ऊँचाई क� 32 गुनी है I य�द छोटे बेलन का आयतन,  लंबे बेलन के 

आयतन का दोगुना है, तो छोटे बेलन और लंबे बेलन क� �त्रज्य म� क्य अनुपात है ? 
(a) 6 
(b) 4 
(c) 8 
(d) 16 

 
64. 
The angle between the hands of a clock at 6:50 a.m. is: 

(a) right angle. 
(b) straight angle. 
(c) obtuse angle. 
(d) acute angle. 

 
पूवार्ह 6:50 बजे �कसी घड़ी क� सूइय� के बीच कौन सा कोण होता है ?  

(a) समकोण  

(b) ऋजु कोण  

(c) अ�धक कोण  

(d) न्यूनको  
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65. 
Consider the following figure: 
 
 
 
 
 
 

 
 
What is the number of triangles in the figure given above? 

(a) 9 
(b) 11 
(c) 13 
(d) 15 

 
�नम्नां�क �चत पर �वचार क�िजए :  
 
 
 
 
 
 

 
 
ऊपर अ�ंकत �चत म� �कतने �त्रभ ह� ? 

(a) 9 
(b) 11 
(c) 13 
(d) 15 

 
66. 
A wire of length 12 cm is used to form a triangle of sides 3 cm, 4 cm and 5 cm. The same wire can be 
used to form a square or a circle. If x, y and z cm2 are areas of the triangle, the square and the circle 
respectively, then which one of the following is correct? 

(a) x > y > z 
(b) x < y < z 
(c) x < z < y 
(d) y < x < z 

 

12 cm लंबे तार का उपयोग कर 3 cm, 4 cm और 5 cm भुजाओं वाला एक �त्रभ बनाया जाता है I इसी तार का 
उपयोग कर एक वगर या एक वतृ् बनाया जा सकता है I य�द �त्रभ, वगर और वतृ् के �ेत्र क्र: x, y और 
z cm2 ह�, तो �नम्न�ल�ख म� से कौन सा एक सह� है ? 

(a) x > y > z 
(b) x < y < z 
(c) x < z < y 
(d) y < x < z 
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67. 
Which one of the following words can NOT be formed by using the letters of the word 
USEFULNESS? 

(a) FUSSES 
(b) ELSE 
(c) FUNNELS 
(d) USES 

 
शब् USEFULNESS के अ�र� का उपयोग कर �नम्न�ल�ख म� से कौन सा एक शब् नह�ं बनाया जा सकता ? 

(a) FUSSES 
(b) ELSE 
(c) FUNNELS 
(d) USES 

68. 
If x, y and z are positive integers such that xyz = 90, then which one of the following is FALSE? 

(a) x + y + z = 14 
(b) x + y + z = 15 
(c) x + y + z = 16 
(d) x + y + z = 20 

 
य�द x, y और z इस प्रक के धन पूणा�क ह� �क xyz = 90, तो �नम्न�ल�ख म� से कौन सा एक �मथ्य है ? 

(a) x + y + z = 14 
(b) x + y + z = 15 
(c) x + y + z = 16 
(d) x + y + z = 20 

 
69. 
One litre of red paint costs Rs. 200 and one litre of green paint costs Rs. 280. A new paint is produced 
by mixing 5 litre of red paint and 3 litre of green paint. If the cost of mixing the paints is negligible, 
then what is the cost of one litre of the new paint? 

(a) Rs. 210 
(b) Rs. 220 
(c) Rs. 230 
(d) Rs. 240 

 
एक ल�टर लाल पेन् क� लागत र0 200 है और एक ल�टर हरे पेन् क� लागत र0 280 है I 5 ल�टर लाल पेन् 

और 3 ल�टर हरे पेन् को �मला कर एक नया पेन् बनाया जाता है I य�द पेन्ट को �मलाने क� लागत नगण् है, 

तो एक ल�टर नए पेन् क� लागत क्य है ?   

(a) र 210 

(b) र 220 

(c) र 230 

(d) र 240 
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70. 
A cylindrical container of capacity 90 litre has two holes on its side wall. One hole is in the middle of 
its height which drains out 10 litre of water per hour. The other hole is just above the bottom and it 
drains out 5 litre of water per hour. If the container is filled full with water, then in how much time will 
it become empty? 

(a) 6 hours 
(b) 9 hours 
(c) 10 hours 
(d) 12 hours 

 
90 ल�टर धा�रता वाले बेलनाकार पात क� पाश्वर्�भि म� दो छेद ह� I इसक� ऊँचाई के मध् म� एक छेद है, िजससे 
10 ल�टर पानी प्र घंटा बह जाता है I दसूरा छेद इसके तल के ठ�क ऊपर है और इससे 5 ल�टर पानी प्र घंटा 
बह जाता है I य�द यह पात पानी से पूरा भरा हो, तो �कतन ेसमय म� यह खाल� हो जाएगा ? 

(a) 6 घंटे  

(b) 9 घंटे 

(c) 10 घंटे 

(d) 12 घंटे 
 
71. 
Under Article 284 of the Constitution of India, all money received by or deposited with any officer 
employed in connection with the affairs of the Union in his capacity as such, other than revenues or 
public money raised or received by the Government, shall be paid into: 

(a) The Consolidated Fund.  
(b) The Contingency Fund. 
(c) The Current Account. 
(d) The Public Account. 

 
भारत के सं�वधान के अनुच छ्े 284 के अधीन, ऐसी सभी धनरा�श, जो सरकार द्वार जुटाए गए या प्रा 

राजस् या लोक धनरा�शय� से �भन् ह�, और संघ के कायर् कला के संबंध म� �नयोिजत �कसी अ�धकार� को 
उसक� उस है�सयत म� प्रा होती है या उसके पास �न��प् क� जाती है, �कसम� जमा क� जाएगी ?  

(a) सं�चत �न�ध  

(b) आकिस्मकत �न�ध  

(c) चालू ख़ाता 
(d) लोक लेखा  

 
72.  
Who among the following should obtain liability statement in Form GFR 6-A, from the spending 
authorities, every month, starting from October in each financial year, in order to maintain proper 
control over expenditure? 

(a) Secretary of the Ministry 
(b) Controlling Officer 
(c) Financial Adviser 
(d) Chief Auditor 
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�नम्न�ल�ख म� से �कसे, व्य पर उपयुक् �नयंत् बनाए रखने के �लए, प्रत् �वत्ती वषर म� अक्तूब स े

शुर कर, प्र मास व्य प्रा�धका�र से प्र GFR 6-A म� देयता �ववरण प्रा करना चा�हए ? 

(a) मंत्रा का स�चव  

(b) �नयंत् अ�धकार�  
(c) �वत्ती सलाहकार  

(d) मुख् लेखापर��क  
 
73. 
Which of the following statements are correct? 

1.  The estimates for expenditure for which vote of the Lok Sabha is required are prescribed in the 
form of Demands for Grants 

2.  More than one Demands for Grants can be presented by a Ministry / Department 
3.  The main Demand for Grants is presented to the Parliament by the Ministry of Finance and the 

Detailed Demands for Grants are laid on the Table of the Lok Sabha by the Ministries / 
Departments concerned 

4.  One of the functions of the Departmentally Related Standing Committees of the Parliament is  
      to consider the Detailed Demands for Grants 

Select the correct answer using the code given below: 
(a) 1 and 2 only 
(b) 2 and 3 only 
(c) 1, 3 and 4 only 
(d) 1, 2, 3 and 4 

 

�नम्न�ल�ख कथन� म� से कौन से सह� ह� ? 

1.  व्य-प्राक्, िजसके �लए लोक सभा का मत अपे��त है, अनुदान� क� माँग के रू म� �व�हत ह�  
2.  मंत्रा/�वभाग द्वार एक से अ�धक अनुदान� क� माँग� प्रस् क� जा सकती है 

3.  अनुदान� क� मुख् माँग संसद को �वत् मंत्रा द्वार प्रस् क� जाती है और अनुदान� क� ब्यौरेवा 

माँग� संबं�धत मंत्राल/�वभाग� द्वार लोक सभा के पटल पर रखी जाती ह�   
4.  संसद क�, �वभागीय संबं�धत स्थाय स�म�तय� का एक कायर अनुदान� क� ब्यौरेवा माँग� पर �वचार 

करना है  

नीच े�दए कूट का प्रय कर सह� उत्त च�ुनए: 

(a) केवल 1 और 2  

(b) केवल 2 और 3  

(c) केवल 1, 3 और 4  

(d) 1, 2, 3 और 4 
 
74. 
‘Vote on Account’ can be obtained to cover expenditure: 

(a) only for one month at a time. 
(b) for a maximum of two months. 
(c) till the completion of the procedure for the passing of the budget. 
(d) for any period as may be necessary in accordance with the provisions of the Constitution of 

India. 
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‘लेखा अनुदान’ �कतनी अव�ध तक के व्य को पूरा करन ेके �लए प्रा �कया जा सकता है ?  

(a) एक बार म� केवल एक मास के �लए  

(b) अ�धकतम दो मास के �लए  

(c) बजट पा�रत होने क� प्र�क पूर� होने तक के �लए  

(d) भारत के सं�वधान के उपबंध� के अनुसार यथावश्य �कसी अव�ध के �लए  
 
75. 
Consider the following statements: 
 

1. Savings out of budgetary allocations can be held in reserve with the approval of the Ministry of 
Finance 

2. Rush of Expenditure in the closing months of the financial year is not regarded as a breach of 
financial propriety if the budgetary allocation is not exceeded 

3. Funds can be reappropriated from a unit with the intention of restoring the diverted 
appropriation to that unit when savings become available under other units later in the year 

 
Which of the above statements is / are NOT correct? 

(a) 1 only 
(b) 2 and 3 only 
(c) 1 and 3 only 
(d) 1, 2 and 3 

 
�नम्न�ल�ख कथन� पर �वचार क�िजए : 

1. बजट आबंटन� म� से बचत� को �वत् मंत्रा के अनुमोदन से आर��त रखा जा सकता है  

2. �वत् वषर के अ�ंतम मास� म� व्य का आ�धक्, य�द यह बजट आबंटन से अ�धक न हो, �वत्ती 

औ�चत् का भंग नह�ं माना जाता   
3. �न�धय� का एक इकाई से, वषर के उत्तरवत मास� म� अन् इकाइय� के अधीन बचत� उपलब् होने पर 

अपव�तर्  �व�नयोजन को उसी इकाई म� पुन:स्था�प कर देने के अ�भप्र से, पुन�वर्�नयोज �कया जा 
सकता है  

 
उपयुर्क कथन� म� से कौन सा/से सह� नह�ं है/ह� ? 

(a) केवल 1  

(b) केवल 2 और 3  

(c) केवल 1 और 3  

(d) 1, 2 और 3 
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76. 
Which one of the following statements is NOT correct? 

(a) Government accounts are prepared on cash basis 
(b) The transactions in Government Accounts represent the actual cash receipts and disbursements 

during a financial year 
(c) Government Accounts are required to reflect amounts due to, or by the, Government during a 

financial year 
(d) All foreign currency transactions are brought into the account after conversion into Indian 

Rupees 
 
�नम्न�ल�ख म� से कौन सा एक सह� नह�ं है ? 

(a) सरकार� लेखे रोकड़ आधार पर तैयार �कए जात ेह�  
(b) सरकार� लेखाओ ंम� लेन-देन �वत्ती वषर के दौरान वास्त�व नकद प्रािप् और सं�वतरण� को 
�नरू�प करता है  

(c) सरकार� लेखाओ ंसे अपे��त है �क वे �वत्ती वषर के दौरान सरकार को, या उसके द्वार, देय धनरा�शय� 
को दशार्  

(d) �वदेशी मुद् के सभी लेन-देन भारतीय रुप म� प�रवतर्  करन ेके पश्चा त लेखाकृ त �कए जाते ह�  
 
77. 
Expenditure on account of reparation of the damage caused by enemy action is to be charged to: 

(a) Capital or Revenue or both, as decided by the Government. 
(b) Contingency Fund of the Union. 
(c) Contingency Fund of the State concerned. 
(d) Public Account. 

 
शत ्क� कारर्वा से हुए नुकसान क� हा�नपू�त र के कारण हुए व्य को �कसम� प्रभा� �कया जाना होता है ?  

(a) पूँजीगत या राजस् या दोन� म�, जैसा सरकार �व�नश्च करे 

(b) संघ क� आकिस्मकत �न�ध म�  
(c) संबं�धत राज् क� आकिस्मकत �न�ध म�  
(d) लोक लेखा म�  

78. 
Inter-Governmental adjustments relating to a particular financial year can be carried out till the: 

(a) 31st of March of that year. 
(b) 15th of April of the ensuing year. 
(c) 30th of April of the ensuing year. 
(d) date specified by the Controller General of Accounts every year. 

 
�कसी भी �वत्ती वषर से संबं�धत अतंसर्रका समायोजन �कस तार�ख़ तक �कए जा सकते ह� ? 

(a) उस वषर क� 31 माचर तक  

(b) आगामी वषर क� 15 अप्र तक  

(c) आगामी वषर क� 30 अप्र तक 

(d) प्र�तव लेखा महा�नयंत् द्वार �व�न�दर्ष तार�ख़ तक  
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79. 
The powers of various subordinate authorities to accord administrative approval for works are: 

(a) regulated by the Delegation of Financial Powers Rules, 1978. 
(b) given in the General Financial Rules, 2005. 
(c) notified by the Central Public Works Department every year. 
(d) notified by the Ministry of Finance every year. 

�नमार्-काय� को प्रशास� अनुमोदन प्रद करने क� �व�भन् अधीनस् प्रा�धका�र क� शिक्तया : 
(a) �वत्ती शिक्तया प्रत्याय �नयम, 1978 द्वार �व�नय�मत होती ह�  
(b) सामान् �वत्ती �नयम, 2005 म� द� गई ह� 
(c) प्रत् वषर क� द्र लोक �नमार् �वभाग द्वार अ�धसू�चत क� जाती ह�  
(d) प्र वषर �वत् मंत्रा द्वार अ�धसू�चत क� जाती ह�  

 
80. 
Which one of the following statements is NOT correct in relation to disposal of stocks? 
(a) A ministry or department may undertake auction of stores directly 
(b) If the selected bidder does not lift the stores, the auctioned stores can be resold with the consent  
     of  the defaulter 
(c) The team constituted to conduct the auction must include a representative of the internal finance  
      wing  
(d) Acceptance or rejection of a bid should be announced immediately on the stroke of the   
      hammer on compleation of the auction process  
 
स्टॉक के �नपटान के संबंध म� �नम्न�ल�ख कथन� म� से कौन सा एक सह� नह�ं है ?  

(a) मंत्रा या �वभाग सामान� क� सीधे नीलामी कर सकते ह�   
(b) य�द चनुा गया बोल� लगान ेवाला सामान नह�ं उठाता है, तो नीलाम �कए गए सामान चकू करने वाले क� 

सहम�त से �फर से बेच ेजा सकते ह�    
(c) नीलामी के संचालन के �लए ग�ठत ट�म म� आंत�रक �वत् स क्ं  का एक प्र�त�न अवश् शा�मल 

�कया जाना चा�हए  

(d) नीलामी प्र�क क� समािप् पर बोल� क� स्वीक ृ� या अस्वीक ृ� तत्का घंटा बजा कर घो�षत कर द� 
जानी चा�हए   

 
81. 
Which one of the following statements regarding surplus or obsolete or unserviceable goods is NOT 
correct? 

(a) They can be disposed of by obtaining bids through advertised tender 
(b) They can be disposed of through public auction 
(c) They can be destroyed if there is a possibility of misuse of such goods 
(d) They can be given to Non-Governmental Organizations registered with DGS & D 
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अ�धशषे या अप्रच� या मरम्म न �कए जा सकन ेयोग् सामान� के बारे म� �नम्न�ल�ख कथन� म� से कौन 

सा एक सह� नह�ं है ? 

(a) उनको �व�ा�पत �न�वदा के माध्य से बो�लयाँ प्रा कर बेचा जा सकता है   

(b) उनको सावर्ज�न नीलामी के माध्य से बेचा जा सकता है   

(c) य�द ऐसे सामान� का दरुुपयो होने क� संभावना हो, तो उनको नष् �कया जा सकता है  

(d) उनको DGS & D म� पंजीकृ त ग़ैर-सरकार� संगठन� को �दया जा सकता है    
82. 
Goods can be purchased without inviting quotations if the value of such goods does NOT exceed: 

(a) Rs. 10,000 on each occasion. 
(b) Rs. 15,000 on each occasion. 
(c) Rs. 50,000 in a quarter. 
(d) Rs. 1,00,000 during a year. 

 
�बना कोटेशन आमं�त् �कए माल क� खर�द क� जा सकती है, य�द ऐसे माल का मूल् �कतने से अ�धक न हो ? 

(a) प्रत् अवसर पर र0 10,000 

(b) प्रत् अवसर पर र0 15,000 

(c) प्रत् �तमाह� म� र0 50,000   

(d) वषर के दौरान र0 1,00,000 
 
83. 
A Department can directly procure items from the suppliers with whom the DGS&D has entered into a 
Rate Contract. In this context, which one of the following statements is NOT correct? 

(a) The Department need not make the payment to the supplier through DGS&D 
(b) The Department can purchase the item at a price lower than the Rate Contract Price 
(c) The Department can negotiate a totally different set of terms and conditions with the supplier 

than those mentioned in the Rate Contract 
(d) The Department shall make its own arrangement for inspection of the purchased goods 

 
कोई �वभाग उन पू�त र् कतार् स,े िजनके साथ DGS&D ने दर-सं�वदा क� है, सीधे वस्तुओ (आइटम्) का प्रा 

कर सकता है I  इस संदभर म�, �नम्न�ल�ख कथन� म� से कौन सा एक सह� नह�ं है ? 

(a) �वभाग को, पू�त र् कता को DGS&D के माध्य से भुगतान करन ेक� आवश्यकत नह�ं है  

(b) �वभाग, दर-सं�वदा क�मत से नीच ेक� �कसी क�मत पर उस वस्त क� खर�द कर सकता है  

(c) �वभाग पू�त र् कता से, दर-सं�वदा म� उिल्ल�ख �नबंधन� और शत� से सवर् थ �भन् �कन्ह� �नबंधन� और 

शत� पर वातार कर सकता है  

(d) �वभाग खर�दे गए माल के �नर��ण के �लए अपनी स्वय क� व्यवस् करेगा  
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84. 
Which one of the following statements is NOT correct? 

(a) Advance payment of the full cost of raw material can be made to a public sector undertaking in 
a turnkey contract 

(b) Departments can trade the existing old items while purchasing the new ones under ‘buy-back’ 
arrangement 

(c) Provision may be made in the contract for part payment to the suppliers 
(d) Provision should be made in the bidding document which enables the bidder to question the 

bidding conditions and bidding process 
 
 
�नम्न�ल�ख कथन� म� से कौन सा एक, सह� नह�ं है ? 

(a) �कसी दा�यत्वपूण (टनर-क�) सं�वदा म�, सावर्ज�न �ेत के उपक् को कच्च माल क� पूर� लागत का 
अ�ग् भुगतान �कया जा सकता है  

(b) �वभाग, नई वस्तुए खर�दते समय मौजूदा पुरानी वस्तुओ का ‘वापस खर�द’ व्यवस् के अतंगर्  सौदा 
कर सकते ह�  
(c) सं�वदा म�, पू�त र् कतार् को आं�शक भुगतान करन ेका उपबंध �कया जा सकता है  

(d) बोल� प्रल म� ऐसा उपबंध �कया जाना चा�हए, जो बोल� लगाने वाल� को बोल� क� शत� और बोल� 
लगाने क� प्र�क्र के बारे म� प्र पूछने का अ�धकार देता हो 

 
85. 
Procurement from a single source may be resorted to where: 

1. it is in the knowledge of the user department that only a particular firm is the manufacturer of 
the required goods. 

2. there are sufficient reasons, to be recorded in writing by the competent authority, indicating 
that it will not be in public interest to procure the goods through advertised tender enquiry. 

3. in a case of emergency, the required goods are necessarily to be purchased from a particular 
source. 

4. there is a requirement of standardization and compatibility with the existing set of equipments. 
 

Select the correct answer using the code given below: 
(a) 1, 2, 3 and 4 
(b) 1, 3 and 4 only 
(c) 3 and 4 only 
(d) 1 and 2 only 
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एक ह� स्र से प्रा करने का आश् तब �लया जा सकता है, जहाँ : 
1.  यह उपयोगकतार �वभाग क� जानकार� म� हो �क केवल एक �वशषे प्र�तष् ह� अपे��त माल का 

�नमार्त है  

2.  ऐसे पयार्प कारण ह�, िजन ह् स�म प्रा�धका द्वार यह बतात ेहुए �ल�खत रू म� दज़र �कया जाए, �क 

�व�ा�पत �न�वदा पूछताछ के माध्य से माल का प्रा करना लोक�हत म� नह�ं होगा  
3.  �कसी आपात िस्थ� म�, जब अपे��त माल को आवश्य रू से �कसी �वशषे स्र से ह� खर�दा जाना हो   
4.  मानक�करण और मौज़दा उपकरण समुच्च के साथ सुसंग�त क� आवश्यकत हो  

 
नीच े�दए कूट का प्रय कर सह� उत्त च�ुनए : 

(a) 1, 2, 3 और 4 

(b) केवल 1, 3 और 4  

(c) केवल 3 और 4  

(d) केवल 1 और 2  
 
 
 
86. 
The officer-in-charge of stores having custody of goods and materials is NOT responsible for which 
one of the following? 

(a) Utilization of stores and materials before the expiry of their shelf life 
(b) Arranging the safe custody of stores and materials received 
(c) Taking appropriate steps for the proper storage of the stores and materials received 
(d) Certifying that he has actually received the materials and recorded it in the appropriate stock 

register 
 
भंडार का प्रभा अ�धकार�, माल और सामग् िजसक� अ�भर�ा म� ह�, �नम्न�ल�ख म� से �कस एक के �लए 

उत्तरदाय नह�ं है ? 

(a) भंडार और साम�ग्र (स्टोस ऐंड मट��रयल्) का उनक� �नधानी आयु क� समािप् के पूवर उपयोग  

(b) प्रा भंडार और साम�ग्र क� सुर��त अ�भर�ा क� व्यवस् करना   
(c) प्रा भंडार और साम�ग्र के उपयुक् भंडारण के �लए समु�चत कदम उठाना   
(d) यह प्रमा� करना �क उसने वास्त म� सामग् प्रा क� है और उसे उपयुक् स्टॉ रिजस्ट म� दज़र 
�कया है  

 
87. 
Which one of the following statements is correct in relation to the maintenance contract? 

(a) It is mandatory to sign such contracts in respect of all sophisticated and  costly equipment and 
machinery at the time of initial purchase 

(b) Maintanance contract can be signed only with the supplier of the goods / equipment 
(c) Maintanance contract need not necessarily exclude the warranty period 
(d) Maintanance contracts need not necessarily be signed with the supplier of the goods / 

equipment  
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अनुर�ण सं�वदा के संबंध म� �नम्न�ल�ख कथन� म� से कौन सा एक सह� है ?  

(a) सभी प�रष क् ृ और मँहगे उपस्क और मशीनर� के बारे म� प्रारं� खर�द के समय ऐसी सं�वदाओं पर 

हस्ता� �कया जाना अ�धदेशात्म है   

(b) केवल सामान�/उपकरण� के पू�त र् कता के साथ ह� अनुर�ण सं�वदा हस्ता��र क� जा सकती है  

(c) यह आवश्य नह�ं है �क अनुर�ण सं�वदा म� वारंट� अव�ध को अ�नवायर रू से शा�मल न �कया जाए   

(d) यह आवश्य नह�ं है �क सामान�/उपकरण� के पू�त र् कता के साथ ह� अनुर�ण सं�वदा हस्ता��र क� 
जाए 

 
88. 
A Committee constituted by a competent authority has declared certain items in an office as surplus. 
The residual value of such items has been assessed at Rs. 3.50 Lakh. Which one among the following 
would be the appropriate disposal action for these items? 

(a) Disposal through public auction or obtaining bids through advertised tender 
(b) Disposal through destruction 
(c) Disposal through a mode as determined by the competent authority 
(d) Disposal at scrap value 

 
स�म प्रा�धका द्वार ग�ठत �कसी स�म�त ने �कसी कायार्ल म� क�तपय वस्तुओ को अ�धशषे घो�षत �कया  
है I  ऐसी वस्तुओ का अव�शष् मूल् र0 3.50 लाख �नधार्�र �कया गया है I �नम्न�ल�ख म� से कौन सी एक, 

इन वस्तुओ के �लए उपयुक् �नपटान कारर्वा होगी ? 

(a) सावर्ज�न नीलामी के माध्य से या �व�ा�पत �न�वदा के माध्य से बोल� प्रा कर �नपटान 

(b) नाशन (�डस्ट्र) के माध्य से �नपटान  

(c) स�म प्रा�धका द्वार यथा�नधार्�र �व�ध के माध्य से �नपटान  

(d) कबाड़ मूल् पर �नपटान  
89. 
In regard to inventory management, all Ministries and Departments: 

(a) are required to follow the provisions of the Public Procurement Laws. 
(b)  have the power to relax the rules prescribed in the General Financial Rules, 2005. 
(c) can lay down detailed instructions in conformity with the basic rules contained in the General 

Financial Rules, 2005. 
(d) have to follow the procedure prescribed by the Directorate General of Supplies and Disposal 

(DGS & D). 
  
माल प्रबं के संदभर म� सभी मंत्राल और �वभाग� : 

(a) से अपे��त है �क वे लोक उपािप् �व�धय� के उपबंध� का अनुसरण कर�  
(b) को सामान् �वत्ती �नयम, 2005 म� �व�हत �नयम� म� छूट देने क� शिक् है  

(c) द्वार सामान् �वत्ती �नयम, 2005 म� अतं�वर्ष आधारभूत �नयम� के अनुरू �वस्तृ अनुदेश 

अ�धक�थत �कए जा सकते ह�  
(d) को पू�त र और �नपटान महा�नदेशालय (DGS&D) द्वार �व�हत पद्ध का अनुसरण करना होता है  
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90. 
Consider the following in connection with procurement process: 
 

1. The bidding document should contain date, time and place of opening of bids 
2. The bids should be opened in public and authorized representatives of the bidders should be 

permitted to attend the bid opening 
3. The name of the  successful bidder who has been awarded the contract should be mentioned in 

the Ministry’s or Department’s notice board or bulletin or website 
4. The bidders should be given reasonable time to send their bids 

 
Which of the above are necessary requirements towards ensuring transparency, competition and 
fairness in the procurement process? 

(a) 1, 2 and 3 only 
(b) 2 and 3 only 
(c)  1 and 4 only 
(d) 1, 2, 3 and 4 

 
प्रा प्र�क के संबंध म� �नम्न�ल�ख पर �वचार क�िजए : 

1. बोल� प्र म� बो�लय� को खोलन ेक� तार�ख़, समय और स्था �दया रहना चा�हए  

2. बो�लयाँ खलेु-आम खोल� जानी चा�हए और बोल� लगाने वाल� के प्रा�धक  प्र�त�न�ध को बोल� खोल� 
जाते समय उपिस्थ रहन ेक� अनुम�त द� जानी चा�हए  

3. सफल बोल� लगाने वाले का, िजसे सं�वदा प्रद क� गई हो, मंत्रा या �वभाग के सूचना-पट या 
बुले�टन या वेबसाइट पर उल्ले �कया जाना चा�हए  

4. बोल� लगाने वाल� को अपनी बो�लयाँ भेजने के �लए यथो�चत समय �दया जाना चा�हए 
 

उपयुर्क म� से कौन से, प्रा प्र�क म� पारद�शर्त, प्र�तस्प और �नष्प�त सु�निश्च करने हेतु अ�नवायर 
आवश्यकताए ह�? 

(a) केवल 1, 2 और 3  

(b) केवल 2 और 3  

(c) केवल 1 और 4  

(d) 1, 2, 3 और 4 
 
91. 
Just in Time (JIT) system reduces inventory in excess of current production and R&D needs through 
elimination of: 

(a) safety Stock. 
(b) FIFO inventory. 
(c) Waste. 
(d) Kanban system. 
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तत्का सुपुदर्ग (JIT) प्रणा, चालू उत्पाद और R&D आवश्यकताओ से अ�धक माल म�, �कसका �नरसन 

करत ेहुए कमी लाती है ? 

(a) सुर�ा स्टॉ  

(b) FIFO माल 

(c) अपशषे  

(d) कैनबैन प्रणा  
 
92. 
A company keeps stock of spare parts for their equipment. Inventory department estimates the cost of 
holding per unit per month to be Rs. 50. When there is shortage of equipment, it will cost Rs. 1,000 per 
unit per month. Over the past, likely demand of equipment follows the pattern given below:  
 
Demand 0  1  2  3  4  5 
Proportion of 0.8  0.1  0.005  0.003  0.015  0.005 
month 
 
Based on the information given above, what is the optimal stock level? 
 

(a) 2 
(b) 3 
(c) 4 
(d) 5 

 
�कसी कंपनी म� उसके उपस्क के �लए अ�त�रक् पुज� का स्टॉ रखा जाता है I माल �वभाग यह प्राक्क 

करता है �क प्र इकाई प्र माह धारण क� लागत र0 50 है I  उपस्क क� कमी होने पर, र 1,000 प्र इकाई 

प्र माह लागत पड़गेी I �वगत समय म�, उपस्क क� संभा�वत माँग नीच े�दए गए प्र�त का अनुसरण करती 
है :  
 
माँग  0  1  2  3  4  5 

मास का  0.8  0.1  0.005  0.003  0.015  0.005 

अनुपात 
 
ऊपर द� गई सूचना के आधार पर, इष्टत स्टॉ स्त क्य है ? 

(a) 2 
(b) 3 
(c) 4 
(d) 5 
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93.  
The Critical Fractile (CF) ratio (where Co = Cost of over stock and Cu = Cost of under stock) is 
defined as: 
 

(a) Co / (Cu + Co). 
(b) Cu / (Cu + Co). 
(c) (Cu + Co) / Cu. 
(d) Cu / (Co – Cu). 

 
 

क्रां� �भन्न (CF) अनुपात (जहाँ Co = अ�धक स्टॉ क� लागत और Cu = न्यू स्टॉ क� लागत) को �कस 

रू म� प�रभा�षत �कया जाता है ? 
(a) Co / (Cu + Co) 
(b) Cu / (Cu + Co) 
(c) (Cu + Co) / Cu 
(d) Cu / (Co – Cu) 

 
94. 
A factory is facing an annual demand of 1000000 items of a particular type. Each item costs Re.1 to 
the factory. Ordering cost is Rs. 12.50 per order and inventory carrying cost is 25 percent of unit price. 
What is the EOQ? 

(a) 10000 items 
(b) 5000 items 
(c) 3162 items 
(d) 7071 items 

 
�कसी कारखाने म� एक �वशषे प्रक क� 1000000 वस्तुओ क� वा�षर्  माँग है I  प्रत् वस्त पर कारखाने क� 
लागत र0 1 है I क्रयाद लागत प्र क्रयाद र0 12.50 है और माल क� रखाव लागत इकाई क�मत का 25 

प्र�त है I EOQ क्य है ? 

(a) 10000 वस्त  
(b) 5000 वस्त 
(c) 3162 वस्त  
(d) 7071 वस्त 

 
95. 
If annual demand for an item is 1000000, procurement lead time is 15 days and safety stock same as 
the consumption during the lead time, what is the re-order level? 

(a) 41667 
(b) 84333 
(c) 83334 
(d) 15000000 

 
 
 

Downloaded from http://iasexamportal.com



य�द �कसी वस्त के �लए वा�षर्  माँग 1000000 है, प्रा क� ल�ड अव�ध 15 �दन और सुर�ा स्टॉ,  ल�ड 

अव�ध के दौरान हुए उपभोग के बराबर है, तो पुनक्रर्या  स्त क्य है ? 
(a) 41667 
(b) 84333 
(c) 83334 
(d) 15000000 

 
96. 
Which one of the following is a major function of purchasing? 

(a) Quality control 
(b) Inventory accounting 
(c) Supplier negotiations 
(d) Warehousing operations 

 
�नम्न�ल�ख म� से कौन सा एक, क् का मुख् कायर है ? 

(a) गुणता �नयंत्  

(b) माल लेखाकरण  

(c) पू�त र् का वातार  
(d) मालगोदाम प्रचा  

 
97. 
The time elapsed between the receipt of a requisition and the receipt of goods required is defined as: 

(a) Lead time.  
(b) Pre-operative period. 
(c) Post-operative period. 
(d) Delivery schedule. 

 
माँग क� प्राि और अपे��त माल क� प्राि के बीच व्यती समय को �कस रू म� प�रभा�षत �कया जाता है ? 

(a) ल�ड समय    

(b) प्रचा-पूवर अव�ध   

(c) प्रचालनोत अव�ध   

(d) सुपुदर्ग कायर्क 
 
98. 
Push manufacturing system is a: 

(a) EOQ-based system. 
(b) Kanban system. 
(c) MRP-based system. 
(d) JIT system.  
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दाबकृ त �व�नमार् प्रणा क्य है ? 

(a) EOQ-आधा�रत प्रणा 
(b) कैनबैन प्रणा  
(c) MRP-आधा�रत प्रणा  
(d) JIT प्रणा 

99. 
SKU is the acronym for: 

(a) Store Keeping Unit. 
(b) Stock Keeping Unit. 
(c) Selected Key Usage. 
(d) System Kind Usage. 

SKU �कसके �लए प�रवण� शब् है ? 

(a) स्टो क��पगं यू�नट  

(b) स्टॉ क��पगं यू�नट  

(c) सेलेक्टे क� यूसेज़  

(d) �सस्ट काइंड यूसेज़   
 
100. 
Which of the following determines the tracking signal (TS)? (Where MAD = Mean Absolute 
Deviation and RSFE = Running Sum of Forecast Errors) 
 

(a) TS = 
RSFE
MAD  

 

(b) TS = 
MAD
RSFE  

 

(c) TS = 5.0)(RSFE
MAD  

 

(d) TS = 5.0)(MAD
RSFE  

 
�नम्न�ल�ख म� से कौन सा, ल�यानुसरण संकेतक (TS) का �नधार् र करता है ? (जहाँ MAD = माध् �नरपे� 

�वचलन और RSFE = पूवार्नुमा त्रु�ट का ग�तमान योग) 

(a) TS = 
RSFE
MAD  

(b) TS = 
MAD
RSFE  

(c) TS = 5.0)(RSFE
MAD  

(d) TS = 5.0)(MAD
RSFE  
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101. 
Which of the following constitute the elements of storing and warehousing costs? 
 

1. Investment in store space and storage and retrieval systems 
2. Software for updating the inventory status 
3. Insurance costs for warehouse  
4. Cost associated with ordering material 

 
Select the correct answer using the code given below: 

(a) 1 and 2 only 
(b) 2 and 3 only 
(c) 3 and 4 
(d) 1, 2 and 3 

 
�नम्न�ल�ख म� से कौन से, भंडारण और मालगोदाम म� रखने क� लागत� के अवयव ह�? 

1. भंडारण के स्था और भंडारण तथा पुन:प्राि प्रणा म� �नवेश  

2. माल क� िस्थ� को अद्यत रखने के �लए सॉफ्टवेय  

3. मालगोदाम के बीमे क� लागत   

4. सामग् के क्रयाद से संबद लागत  
 

नीच े�दए कूट का प्रय कर सह� उत्त च�ुनए : 

(a) केवल 1 और 2  

(b) केवल 2 और 3  

(c) 3 और 4 

(d) 1, 2 और 3 
 
102. 
Additional investment in inventory to buffer against uncertainties in demand and supply of raw 
material and components is in the nature of: 

(a) cyclic inventory. 
(b) pipeline inventory. 
(c) safety stock. 
(d) decoupling inventory. 

 
कच्च माल और पुज़� क� माँग और पू�त र म� अ�निश्चतत के प्र सुर�ा के �लए माल म� अ�त�रक् �नवेश �कस 

स्वर का होता है ? 

(a) चक्र मालसूची  
(b) पाइपलाइन मालसूची  
(c) सुर�ा स्टॉ  

(d) �वयुग्म मालसूची  
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103. 
In the context of maintenance, the spare parts repaired, reconditioned and put to use are categorized as: 

(a) rotable spares. 
(b) capital spares. 
(c) maintenance consumables. 
(d) insurance spares. 

 
अनुर�ण के संदभर म�, मरम्म �कए गए, सुधारे गए और उपयोग म� लाए गए अ�त�रक् पुज़� को �कस रू म� 
संवग�कृ त �कया जाता है ? 

(a) पुनय�ज् (रोटेबल) अ�त�रक् पुज़�  
(b) कै�पटल अ�त�रक् पुज़�  
(c) अनुर�ण उपभोज् वस्तुए  
(d) इन्श्योर अ�त�रक् पुज़� 

 
104. 
Material Department reported Operation Manager that orders have Critical Ratio (CR) greater than 1. 
What does it mean? 

(a) Order is behind schedule 
(b) Order is on schedule 
(c) Order is ahead of schedule 
(d) Order is already cancelled 

 
सामग् �वभाग ने प्रचा प्रबं को �रपोटर �कया �क क्रयादे का क्रां� अनुपात (CR) 1 से अ�धक है I 

इसका क्य अथर है ? 

(a) क्रयाद कायर्क से पीछ है  

(b) क्रयाद कायर्क्रमानु है  

(c) क्रयाद कायर्क से आगे है  

(d) क्रयाद पहले ह� �नरस् कर �दया गया है  
 
105.  
Which one of the following is NOT correct in relation to ‘transportation inventories’? 

(a) These are a part of the ‘transaction stock’ 
(b) The size of ‘transportation inventory’ is linked to length of the pipeline 
(c) The size of the ‘transportation inventory’ is not linked to the rate of sale at the retail stock point 
(d) Stock of ‘transportation inventories’ cannot be reduced 

�नम्न�ल�ख म� से कौन सा एक, ‘प�रवहन माल’ के संबंध म� सह� नह�ं है? 

(a) ये ‘सौदा स्टॉ’ का एक भाग ह�  
(b) ‘प�रवहन माल’ का आमाप, पाइपलाइन क� लंबाई से जुड़ा है  

(c) ‘प�रवहन माल’ का आमाप, खदुरा स्टॉ �बदं ुपर �वक् क� दर से जुड़ा नह�ं है  

(d) ‘प�रवहन माल’ का स्टॉ कम नह�ं �कया जा सकता  
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106. 
Consider the following statements: 

1. All obsolete items are non-moving in nature, while all non-moving items are not obsolete. 
2. The problem of obsolete items is more acute with reference to spare parts. 
3. Obsolete items cannot be used economically. 

Which of the statements given above is / are correct? 
(a) 1 only 
(b) 2 and 3 only 
(c) 3 only 
(d) 1, 2 and 3 

 
 

�नम्न�ल�ख कथन� पर �वचार क�िजए : 

1. सभी अप्रच� वस्तुए अचल स्वर क� होती ह�, जब�क सभी अचल वस्तुए अप्रच� नह�ं होतीं  
2. अप्रच� वस्तुओ क� समस्य, अ�त�रक् पुज़� के संबंध म� अ�धक तीव होती है  

3. अप्रच� वस्तुओ का �कफायत से उपयोग नह�ं �कया जा सकता  
 

उपयुर्क कथन� म� कौन सा/से सह� है/ह� ? 

(a) केवल 1  

(b) केवल 2 और 3  

(c) केवल 3  

(d) 1, 2 और 3 
 
107. 
Which one of the following statements is NOT correct? 

(a) FIFO issue system cannot work if the items are stored randomly in a large warehouse 
(b) The JIT concept of inventory management can prevent accumulation of excess inventory 
(c) ZIN (Zero-inventory) system of inventory management does not imply literally ‘nil’ inventory 
(d) The term ‘EOQ’ stands for efficient order quantity 

 
�नम्न�ल�ख कथन� म� से कौन सा एक सह� नह�ं है ? 

(a) FIFO �नगर्  प्रणा काम नह�ं कर सकती, य�द वस्तुओ को �कसी बड़ ेगोदाम म� यादृिच्छ: भंडा�रत 

�कया गया हो   
(b) माल प्रबं क� JIT संकल्पन अ�धक माल के जमा हो जान ेको रोक सकती है  

(c) माल प्रबं क� ZIN (शून्-माल) प्रणा का तात्पय माल का शब्द: ‘शून्’ होना नह�ं है  

(d) शब् ‘EOQ’ का अथर ए�फ�शय�ट ऑडर्  क्वां�टट है  
 
108. 
Which one of the following statements in the context of ‘Letter of Credit’ is correct? 

(a) It is an arrangement, whereby the obligation to pay the seller is undertaken by a bank 
(b) The Letter of Credit need not necessarily specify any amount 
(c) All Letters of Credit are revocable 
(d) Revolving Letter of Credit refers to an arrangement whereby the bank undertakes to make 

payment to multiple sellers 
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 ‘साखपत’ के संदभर म� �नम्न�ल�ख कथन� म� से कौन सा एक, सह� है ? 

(a) यह एक व्यवस् है, िजसके द्वार �वक्रे  को भुगतान करने के दा�यत् का ब�क द्वार वचन �दया 
जाता  है  

(b) साखपत म� �कसी धनरा�श का �व�न�दर्ष �कया जाना आवश्य नह�ं है  

(c) सभी साखपत प्र�तसंहरण होते ह�  
(d) प�रक्रा साखपत उस व्यवस् को �न�दर्ष करता है, िजसके द्वार ब�क बहु �वक्रेता  को भुगतान 

करने का वचन देता है  
 
109. 
The duration from recognition of need till the purchase order is triggered off is called: 

(a) Transit lead time. 
(b) Administrative lead time. 
(c) Pre-purchase lead time. 
(d) Processing lead time. 

आवश्यकत क� स्वीक ृ� से ले कर क्रयाद के प्रव�त �कए जान ेतक क� अव�ध क्य कहलाती है ?  

(a) पारवहन ल�ड अव�ध   

(b) प्रशास� ल�ड अव�ध  

(c) खर�द-पूवर ल�ड अव�ध  

(d) प्रक ल�ड अव�ध  
110. 
A.B.C. and V.E.D. analysis were performed for all the stored items in a factory. Three items, M, N and 
P, were found to be of A-type and vital, A-type and desirable and C-type and vital, respectively. In 
which one of the following descending order, will their service level be maintained? 

(a) M-N-P 
(b) N-M-P 
(c) P-M-N 
(d) P-N-M 

 
�कसी कारख़ाने म� सभी भंडा�रत वस्तुओ के �लए A.B.C और V.E.D. �वश्लेष �कए गए I तीन वस्तुए, M, N 

और P, क्र: A-प्रक क� और अ�नवायर, A-प्रक क� और वांछनीय तथा C-प्रक क� और अ�नवायर पाई ग� I 

�नम्न�ल�ख म� से �कस एक अवरोह� अनुक् म�, उनका सेवा स्त बनाए रखा जाएगा ? 
(a) M-N-P 
(b) N-M-P 
(c) P-M-N 
(d) P-N-M 

 
 
 
 
 
 
 

Downloaded from http://iasexamportal.com



111. 
Consider the following statements: 

1.   Active work-in-process stocks are transaction stocks. 
2. Safety stock is an organization stock. 
3. Fluctuation stock is not a safety stock. 
4. Stocks held in anticipation of price increases are speculative stocks. 

 
Which of the statements given above are correct? 

(a) 1 and 2 only 
(b) 2 and 4 only 
(c) 1, 2 and 4 
(d) 1, 3 and 4 
 

�नम्न�ल�ख कथन� पर �वचार क�िजए : 

1. स�क् प्र�क्रयां कायर स्टॉ सौदा स्टॉ होते ह�  
2. सुर�ा स्टॉ, संगठन स्टॉ होता है  

3. घट-बढ़ स्टॉ, सुर�ा स्टॉ नह�ं होता  
4. क�मत� बढ़न ेक� प्रत्य म� धा�रत स्टॉ, आनुमा�नक स्टॉ होता है  
 

उपयुर्क कथन� म� से कौन से सह� ह� ? 

(a) केवल 1 और 2  

(b) केवल 2 और 4  

(c) 1, 2 और 4 

(d) 1, 3 और 4 
112. 
Which of the following are included in the inventory carrying cost? 
 

1.  Cost of storage facilities 
2. Pilferage 
3. Taxes 
4. Opportunity cost of capital 

 
Select the correct answer using the code given below: 

(a) 1 and 2 only 
(b) 1, 2 and 3 only 
(c) 3 and 4 only 
(d) 1, 2, 3 and 4 
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�नम्न�ल�ख म� से कौन से माल रखाव लागत म� शा�मल ह� ? 

1. भंडारण सु�वधाओं क� लागत  

2. छुटपुट चोर�  
3. कर 

4. पूँजी क� �वकल् लागत  
 

नीच े�दए कूट का प्रय कर सह� उत्त च�ुनए : 
 

(a) केवल 1 और 2  

(b) केवल 1, 2 और 3  

(c) केवल 3 और 4  

(d) 1, 2, 3 और 4 
 
113. 
Consider the following statements in the context of procurement strategies: 
 

1. ‘Systems contracting’ helps the buyer and seller to reduce the administrative expenses. 
2. ‘Blanket order’ is an incomplete contract with a vendor to purchase certain items. 
3. ‘Bazaar purchase’ is also known as imprest purchase. 
4. All limited tenders are advertised tenders. 
 

Which of the statements given above are correct? 
(a) 1 and 2 only 
(b) 1, 2 and 3 
(c) 3 and 4  
(d) 2 and 3 only 

 
 
प्रा कायर्नी�तय के संदभर म� �नम्न�ल�ख कथन� पर �वचार क�िजए : 

1. ‘प्रणाल� सं�वदाकरण’ क्रे  और �वक्रे  के �लए प्रशास� व्य कम करने म� 
सहायक होता है  

2.  ‘व्याप आदेश’ क�तपय वस्तुओ क� खर�द के �लए �कसी �वक्रे  के साथ क� गई 

अधरू� सं�वदा है  

3.  ‘बाज़ार खर�द’ को अग्रद खर�द के रू म� भी जाना जाता है  

4. सभी सी�मत �न�वदाएँ �व�ा�पत �न�वदाएँ होती ह�  
उपयुर्क कथन� म� से कौन से सह� ह� ? 

(a) केवल 1 और 2  

(b) 1, 2 और 3 

(c) 3 और 4  

(d) केवल 2 और 3  
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114. 
Details of an item’s product buildup, including all component items, their buildup sequence, the 
quantity needed for each and the work centres that perform the buildup sequence are described in: 

(a) Bill of Materials. 
(b) Master Production Schedule. 
(c) Inventory Status File. 
(d) Bill of Lading. 

 
�कसी वस्त क� उत्पा व�ृद ( �बल्डअ) के ब्यौर, िजनम� सभी घटक वस्तुए, उनके व�ृद अनुक्, प्रत् क� 
आवश्य मात् और व�ृद अनुक् को �नष्पा�द करने वाले कायर-क� द शा�मल ह�, �कसम� व�णर्  होते ह�?  

(a) सामग् सूची  
(b) प्रध उत्पाद कायर्क   

(c) माल िस्थ� सं�चका  
(d) लदान पत  

 
115. 
The information as to ‘what do we want to produce, and when’ is provided by: 

(a) Bill of Materials. 
(b) Inventory Status File. 
(c) Master Production Schedule. 
(d) Planned Order Release. 

 
 ‘हम �कसका और कब उत्पाद करना चाहते ह�’ के बारे म� सूचना �कससे �मलती है ?  

(a) सामग् सूची 
(b) माल िस्थ� स�ंचका 
(c) प्रध उत्पाद कायर्क 

(d) योजनाबद क्रयाद �नगर्  
 
116. 
Consider the following statements: 
 

1.   Planned orders (future) is one of the output information of the MRP. 
2. Inventory status file is an output information of the MRP. 
3. Order planning and control is one of the functions served by MRP. 
4. Priority planning and control is a function served by Master Production Schedule (MPS). 

 
Which of the statements given above are correct? 
 

(a) 1 and 3 only 
(b) 2 and 4 only 
(c) 1, 2 and 3 only 
(d) 1, 2, 3 and 4 
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�नम्न�ल�ख कथन� पर �वचार क�िजए : 

1. योजनाबद क्रयाद (भावी) MRP क� एक �नगर्  सूचना होती है  

2. माल िस्थ� स�ंचका MRP क� एक �नगर्  सूचना होती है  

3. क्रयाद योजना और �नयंत् MRP द्वार �कया जाने वाला एक प्रका है  

4. अग्र योजना और �नयंत् प्रध उत्पाद क् (MPS) द्वार �कया जाने वाला एक प्रका है  
 

उपयुर्क कथन� म� से कौन से सह� ह� ? 

(a) केवल 1 और 3  

(b) केवल 2 और 4  

(c) केवल 1, 2 और 3  

(d) 1, 2, 3 और 4 
 
117. 
Under integrated materials management system, determining EOQ is related to which one of the 
following elements? 

(a) Materials planning 
(b) Inventory control 
(c) Purchasing 
(d) Stores management 

 
एक�कृ त सामग् प्रबं प्रणा के अतंगर् , EOQ का �नधार् र �नम्न�ल�ख अवयव� म� से �कस एक के साथ 

संबं�धत है ? 

(a) सामग् योजना  
(b) माल �नयंत्  

(c) खर�द  

(d) भंडार प्रबं  
118. 
Which one of the following is the first step in the purchasing cycle? 

(a) Requisition 
(b) Specifications and requirements analysis 
(c) Source selection 
(d) Purchase plan 

 
खर�द-चक म� �नम्न�ल�ख म� से कौन सा एक, पहला चरण होता है ? 

(a) माँग  

(b) �व�शिष् एवम ्आवश्यकत �वश्लेष  

(c) स्र चयन  

(d) खर�द योजना  
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119. 
Which one of the following statements is correct? 

(a) Palletisation and containerisation are common methods of storing big items in holdable 
packages without impairing their physical attributes 

(b) Forklifts used in a store cannot perform the function of transportation of packages 
(c) Skid trucks, gantry cranes and tractors are examples of fixed-path material handling equipment 
(d) Mono-rail systems are meant for transportation of passengers 

 
�नम्न�ल�ख कथन� म� से कौन सा एक सह� है ? 

(a) प�ट्टकाक ( पैलेटाइज़ेशन) और �डब्बाबंद ( कंटेनराइज़ेशन), बड़ी वस्तुओ को धारणीय 

प�रवेष्टन (पैकेज़ेज) म�,  उनके भौ�तक गुण� म� दोष लाए �बना, भंडा�रत करने क� सामान् 

पद्ध�तय ह� 
(b) �कसी भंडार म� प्रयु काँटेदार उत्थाप (फोकर ्�लफ्), संवेष्टन (पैकेज़ेज) के प�रवहन का 

कायर नह�ं कर सकते  
(c) िस्क ट्, गंत् क्रे  और ट्रैक, �नयत-पथ सामग् संचालन उपस्क के उदाहरण ह�  
(d) मोनो-रेल प्रणा�लय या�त्र के प�रवहन के �लए होती ह�   

 
120. 
Analytical management tools such as A.B.C. analysis, H.M.L. analysis and V.E.D. analysis refer to: 

(a) periodic review system of inventory control. 
(b) fixed quantity system of inventory control. 
(c) fixed period system of inventory control. 
(d) selective control of inventory. 

 
वैश्ले�ष प्रबं उपकरण, जैसे �क A.B.C. �वश्लेष, H.M.L. �वश्लेष और V.E.D. �वश्लेष �कसे �न�दर्ष 

करत ेह� ? 

(a) माल �नयंत् क� आव�धक पुनर��ण प्रणा  
(b) माल �नयंत् क� �नयत मात् प्रणा  
(c) माल �नयंत् क� �नयत अव�ध प्रणा  
(d) माल का चयनात्म �नयंत्  

 
 
 
 

Downloaded from http://iasexamportal.com


